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Question 1 (3, 3 = 6 marks)
Find the equation of each linear function

X Y, 4%
a) Passing through (2,-3) and (4,1)

o S At (3‘_3) 5=mx+(_

M= 3, x
% $-a)re
Ty 3=l tC
gr =

.
a//
e’

b) Perpendicular to the line 2x + y—3 = 0 and with x-intercept of -2.

Q’Mj‘g"‘ O
éj: O t3

l ‘//
W\i:_’D’Z ‘Lmlzﬁj

At (,-;)'o) = ME 4+ C
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(2 marks)

Given the points (-3, 1) and (4, 2) find the exact value of the distance between them

Question 2
()L: \R (31-101*(11‘7501—
v (@)™ +( u—(—SﬂL'\/

Ji+uq
J50 /

= > \)/02—/ Ui TS
(2 marks)

3
. Find the value of y.

]

{r

Question 3
The gradient of the straight line between (3, y) and (-2, 5)is —
= A
')(2_-7( \
5-v./
. b To2-3
2 5-9

-3;;\/

(1,1 =2 marks)

Question 4
2
The quadratic equation kx~ + 5x — 3 = 0 has exactly one real solution

What is the value of the discriminant?

OV

a)

Hence, find the value of k.

b) ,
b% hac= O

S y(Rf3) 0 v/
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Question 5
Solve the following quadratic equations giving exact answers

a) X’ +2x-15=0

(’)crf SI.I’?D =0

. x:/5 . y

b) x> —3x—-5=0

bt \/ b*-Lac
i o
= 2

= Sdou

2(Y)

oA
34029 o plst=is /

Page 4 of 6

(2, 2 = 4 marks)



Question 6 (2, 5 =7 marks)
Determine the rules for the following tables

a)

#d j:—l tc
X o
Ak (4%) ¢= (-4)tc
¢ = H+c /
c =L \/

(j: -x + Y

b)

{ 2 2 4 8 14 22 32
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Question 7

(a)

At (o)

(b)

(3,2, 2 =7 marks)
Part of the graph of y = ax® + bx +4 is shown below.

,
4 ]
: / —_— : : —>X
4 2 2 4 8 &\ 10
Determine the values of the coefficients a and b.

J = a (x +;sz -—‘33

= o x2-bx _-IG)
| = OV(IO—-O—IQ

u—-lbou
B =

1
]
B
i
}-’{
|
-
X
|
\QD
S ®
\
E\N ,1;\"

A quadratic has equation y = x” —6x + 2. Determine

(i) the coordinates of its turning poiht.l
J: (x-3) t& a
:Qx' o 3 2L _ ‘-{ ‘

e TR = (3,"{) /

(ii) the exact values of the zeros of the quadratic.
(x —3')7"~7 =0/
3
(#-3) ¥ |
x ..% *= fﬁ /
L =37
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Question 8 (2, 2 = 4 marks)

State the domain and range

a) ('312)1 (2r 1),(0,0), (115)1 (41'7)1(2;5) ;
—DOMCL,(A . ?—B\Q'O}I,L{')ZE /
Rar\ga ; z 2,',0;5]~7{€3/

A

b)  f(x)=3x-6

Doma~ 3 o’

Rar@f— i(j :J =

=R ,x?‘ij /

> ,jj}Oj’

Question 9 (3 marks)

Demonstrate how to complete the square for y= x*=3x + 2. Then state the turning point.

- 9 i
RS v
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Question 10 (4 marks)

Calculate the shortest distance between the parallel lines y+x=4 and y+x=6. Leave

- -x+
J <+ b

-

your answer in exact form.

L(r\a, . 3—
mal [BE (O\Lﬂ
:jr—nr\lff—
;|(U)-1(/
47
g= 3
0 - —x+t b
\r\\'uww\m\ O\’ :j 7()(1"_
ot \‘j’w

Disnace (o'@ ard (i) —
d- (o) + ()

JioT
\EU unts /
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Question 11 (1,1, 2 = 4 marks)
A ramp walkway is to be built over a ravine. It is to be attached to a supporting cable as
shown in the diagram. Both the ramp walkway and supporting cable are in the shape of a
quadratic function.

supporting cabl

guy wire ~

e
~J_pght

left_— ramp walkway [ —

water level

distances are in metres

The equation of the ramp walkway is y = -0.00/x" + 0.062x + 18.04

The equation of the supporting cableis y = 0.003x° — 0.186x + 25.18

a) Find the length of the shortest guy wire.

22:297-19-001 = 32%m v

.

b) What is the closest the ramp walkway is to the water surface?

c) How far from the left end is the supporting cable 24m above the water?

u BTN 5L+fgrwl/'
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(5 marks)

Question 12

Sketch the graph of h = -0.66% + 2.4¢ + 5.6 ,indicate the major features.

e o s e it e e

PR —

FEN
2
SaZnnaas.
o e HUl\lH\!l\l\l\uHD |||||
W et i
AT

lo

b = = e e e

165, 565

Rodrs

Max (5\) 18) /

Shape ¥

Accu,racd v
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